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PART - A
CHOOSE THE CORRECT ANSWER (10X1=10)
1. The equation is of the form y = px + f(p) is known as..........
a) clairauts equation b) Eulers equation
c) charpits equation d) none of the above

2. The equation Mdx + Ndy is said to be exact if

oM ON oM _ ON M _ 9N
a) e b) s c) oy d) none of the above

3. The solution of (D? — 5D + 4)y = 0 is

a)y = Ae* + Be** b)y = Ae™ + Be* ¢)y = Ae™* + Be™** d)y = Ae?* + Be**
4. The particular integral of the equation (D? — 2D + 1) = e”* is

X2 x X2 x XX
a) — =€ b) e C) € d) none of the above
5. A solution obtain by giving particular values to the arbitrary constants in known as

a) particular integral b)complete integral c) general solution  d) none of the above

6. The solution of x + y Z—i =01is

dz="100)  bz=T+00) ) 7=2400) Hz=Z+00)
T IR =

) 5o REE )57 )5
8. if L[f(t)] = F(s) then L[f (at)] =............

a) F(5/q) b) — %F ) c) %F &) d) none of the above
9k

The inverse Laplace transform of ( 2 ) is

a) cos kt

.......

52 +k?

b) cost c) sinkt

d) none of the above
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0. )=

s(s+a)
1 — p—at 1 — s _ 1 _ p—at _ ,—at
2)— (1—e™9) bzA-e™)  -I(1-e®)  d)(1-e)
PART -B
ANSWER ALL THE QUESTIONS (5X7=35)

11. a) Solve (x + 1)%+ 1=2e7

(OR)
b) Solve x%p? + 3xyp + 2y% = 0
12. a) Solve ((D? + 2D + 5)y = xe*
(OR)
22Y 0 aye S
b) Solve x U Ee A = log x
13. a) Solve pxy + pq + qy = yz
(OR)
b)SolveP+g=x+y
. sinat
14. @) Find L [ ]
(OR)
we—t_p—2t
b) Evaluate [ i
2
15. a) Solve the equation it—f + 4% + 5y =5 given that y(0) = 0, y'(0) = 0 by using Laplace transform.
(OR)
5 = S
b) Find L~ | S
PART - C
ANSWER ANY THREE QUESTIONS (3X10=30)
16. Solve P3 + 2xP? — y2P2 — 2xy2p = ()
17. Solve (D? + 16)y = 2e73% + cos 4x
2 2\ 9z CLAe R
18. Solve (y* + z )ax+x(yay z) =0
19. Find the Laplace transform of the rectangular wave given by f(t) = {_11 Eg z z : 12)?))}

20. Solve the equations by using Laplace trasform % yi=tsinit" % +x =cost x(0) =2,y(0) =0
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